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Section B (40 marks) Working steps must be shown in answering questions in this
section unless specified otherwise.
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31(a). | The perimeter is . (Give your answer with a unit)
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31(b).
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32(b). | My father should use the in order to pay less.
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33(b).

34(a).

34(b).

35(a).
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They should have the lunch buffet at
Restaurant so as to pay less, can pay $ less.
i BRre p 2t E Y R
SRR ° 3
4
should be obtained.
R ° 2
4
The serial number of that booth was
5 Bt g 1 2
He should go in the direction of
. . s g 2
s > o A
Go On To Next Page
LA
€5 (] 4)




Marks

82

Marks
ib A

36(a). | The difference is
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